
Date : Fichier :

Ind. MODIFICATIONS

AFFAIRE N°

PLAN N°

Folio

POSTE HT 20 kV/5kV 2MVA

ETUDE : G. CREA

EXEMPLE

Synoptique

Indice de révision Objet de l'indice de révision
N Folio n

N Folio n/nDate Affaire Fichier

BOVESIA

EDF

U = 20 kV

S"kQ max = 100 MVA

S"kQ min = 100 MVA

IS1

JDB_Poste

U = 20 kV

PGB

TR1

Up = 20 kV

Us = 5 kV

SrT = 2 MVA

Dyn

JDB_Flottation

U = 5 kV
IS8

PFA9

TR Moos

Up = 5 kV

Us = 500 V

SrT = 630 kVA

Dd

Z

Pour I = 20 A : Z = 144 ohms : P = 57,6 kW

SR6D

FR62D

I >

3TC 230A 6s

I >

3TC 800A 60ms

D8

C9

CB_FLOT

L=20m - Alu

n=1 - S=150mm²(F)

IB=231 A

IS7

TR_VA

Up = 5 kV

Us = 410 V

SrT = 1,250 MVA

Dyn

I >

3TC I>>60A 15s100/5A

I>175A 6s

I>>182A 1s

AR_Flot

U = 5 kV

TR_LG

Up = 5 kV

Us = 500 V

SrT = 630 kVA

Dyn

C_Moos

L=650m - Cu

n=1 - S=25mm²(F)

IB=73 A

CB_VA

L=650m - Alu

n=1(F) - S=95mm²(F)

IB=144 A

CB_Locaux

L=15m - Alu

n=1 - S=95mm²(F)

IB=29 A

CB_poste_TR1

L=10m - Alu

n=1 - S=50mm²(F)

IB=58 A

JDB_TR1

U = 20 kV

CB_PGB_TR1

L=8m - Alu

n=1 - S=50mm²(F)

IB=58 A

75/5A

I> = 350A 0,2s

I> calculé = 20In 0,2s

I>> calculé = 5,4In 0,2s

Io = 9A 0,2s

IS4

Manchon_LG

L=2800m - Alu

n=1 - S=70mm²(F)

IB=73 A

I >

3TC I>55A 60s

I limite 20A

Io = 10A 0,4s

I >

3TC I>160A 0,8s

I >

3TC I>>1400A 0,5s

I >

3TC I>80A 1s

I >

3TC I>>105A 20ms

I >

3TC Io>3A 3s
I >

3TC Io>3A 3s

P

S

TR_Locaux

Up = 5 kV

Us = 410 V

SrT = 250 kVA

Dyn

I >

3TC Io>>5A 60ms
I >

3TC Io>>6A 60ms

150/5A 200/5A 75/5A

25/1A
I >

3TC Io>6,25A 0.5s

Manchon

U = 5 kV

CB_Flot_Manchon_LG

L=500m - Alu

n=1 - S=120mm²(F)

IB=73 A

LG

U = 500 V

Sr = 368 kVA

TE

U = 410 V

Sr = 160 kVA

ARRO

U = 410 V

Sr = 1,250 MVA

MOOS

U = 500 V

Sr = 333 kVA


